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201 et A bl 5,880 5,880 0
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OHMbal M= Al MEHMAF 13 HE XA
20,000,000& =13l 20,000
O&AI S 23 =l X2 20,000,000& *13l 20,000
O= Xl =0l SH #AEX
10,000,000& =13l 10,000
OHs=H Mz XA 8,000,000& =13l 8,000
oelxiel el&=std=sH izl K&
5,000,000& =13l 5,000
Odetgs =2H &2t N&  7,000,000& 13| 7,000
o8 gg&tis &t X& 4,500,000 12 4,500
OAxdSSUHAE Mzl XA 30,000,000& *13l 30,000
OXESs0 8= BHUS Mzl X
30,000,000& =13l 30,000
g UE2IM==H IR 20,000 30,500 A 10,500
< 4,000
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04 QIZFHALAIH E = 20,000 30,500 A 10,500
OHM45sl 8gRiE2sto=sHM &0 N
20,000, 000& 20,000
< 4,000
i 16,000
ol=cd 84 ¢ XN 178,672 0 178,672
201 Let24E] 5,000 0 5,000
01 At 22l 5,000 0 5,000
O2sti=dal &+ 2,500,000& 23] 5,000
307 21201 A 173,672 0 173,672
02 QAFAAFEE 52,000 0 52,000
O=2stil=td &8 ¥ 2a0=AY X
2,000,000 «5J4 & 10,000
OZzo=oatool 28 XA
30,000,000& *13l 30,000
OO0t MatHEd 29 XI& 6,000,000& 6,000
Ogutz ety gzt 3,000,000& x13] 3,000
ONE =28 g2t 3,000,000& =13l 3,000
03 QIZtHNHEB2LEHEX 69,672 0 69,672
Ost=0Z X3 298 XA
52,872,000 =10 & 52,872
ONE 014 BEH 29X
16,800,000& *1JH £ 16,800
04 DIZHHALALSE E X 52,000 0 52,000
OMZLSHM & dzt=l2 & dMIH
5,000,000& =13l 5,000
OXEZ stdll= AJINHE Mzl X
2,000,000& =13l 2,000
O&EZgl ez izl XI& 2,000,000& *13] 2,000
Od=ElE3 HO0It= AMSH
2,000,000& 13 2,000
OXzll=8s d=0l=H 2,000,000*12] 2,000
O&&ll=8s 95 nxaA
2,000,000& =13l 2,000
OMAEZIIES XX I35 nxyA
1,500, 000& 12| 1,500
ONl474%] 0IERS EHAM 22X
5,000,000& =13l 5,000
O&EZADIE AtH S D=&3H
3,000,000& =13l 3,000
Ost=HM0ugsa AEXN2H Mz
3,000,000& =13l 3,000
Otetl= MudEga Ad=XNRH
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2A: S0z
H: S0z Mg L SH(SYLAZ /2300 =)
g2 d=dE (chel & 9l)
- _ _ RE]
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10,000,000 *13] 10,000
O2X0ts @M & Dot 2% =2H
1,500,000 13| 1,500
OXTEANEE =2 HEX &2 sHAIOHS
2,000,000 *13] 2,000
OMAISE A K& 1,000,000 *7J4 & 7,000
Ost=dE22H3AUSE HEl X
2,000,000 13| 2,000
=220t Ol=2 A XANE A 9,806 0 9,806
=2 4,903
= 4,903
307 2I2+0 & 9,806 0 9,806
= 4,903
= 4,903
02 QI2tAAMAIE E =X 9,806 0 9,806
O=22AZ20F =2 Al XIALE
9,806,000 x13| 9,806
= 4,903
= 4,903
DS 29 Y 20 (2L /250s) 1,151,588 857,827 293,761
DEAEMs 29 2 2 XS 1,151,588 857,827 293,761
cEolENsc 2F 1,006,788 746,027 260,761
301 Bt A= 1,006,788 746,027 260,761
Vo= - 2sSESEAZ 1,006,788 746,027 260,761
Ogetedd| 600,000 x12& 7,200
Otlst 29 A28 ¢ 300,000& x12& 3,600
OZ2HASE 7¢ 23,232,000& 23,232
ORUoa ¢ 30,000,000 30,000
O AJEYE MARAY =¢
3,200,000 3,200
OZga=HlsCt tilswns A
425,000 x28H »23| 23,800
Qa2 ol B2 10,000, 000& 10,000
Ollsc& o2y 905,756
—-Jl2= 718,664,000 718,664
- JIEx4 160,000 262 x 12& 49,920
—llsx=% 6,150,000& ~12& 73,800
—AEE = 160,000& x26H x12& 49,920
— &= 3,363,000 x4H 13,452
ELIEHH sH K& 144,800 111,800 33,000
101 e1214| 3,000 0 3,000
04 J|12tHIZ22NEES 3,000 0 3,000
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